
NO. ANSWER

1 The main point of the argument talks about how the scarcity of timber necessitates loosening lumber collection laws in

order to make more establishments and allow for environmental research on sustainable wood production to be possible.

Option C best debunks this premise by claiming how counterproductive such research would be for sustainability if the

loosened policies allow for the abuse of cutting trees.

Option C is the correct answer.

2 The argument talks about the idea of how carbon footprint becomes lesser with the stoppage of plastic usage collectively.

Option D debunks this claim by explaining how this approach becomes significantly ineffective in cutting carbon when

factories continue to emit carbon continuously. Factories, at large, produce an enormous amount of carbon which is

incomparable to how much stopping plastic use could do in effect.

Option D is the correct answer.

3 The main point of the argument talks about how children with strong opinions are bound for holistic growth. Option C

best weakens this claim by stating that children who are strongly opinionated often build a wall and refuse to take a word

of advice from those who have differing opinions with them. Listening to others can help develop the kids' intellect by

providing them with myriad perspectives, which they can process and learn from. Refusing to learn or listen is a hindrance

to intellectual development.

Option C is the correct answer.

4 The main point of the argument talks about how nap periods ought to be included in class schedules to aid the

development of students to perform better in the classroom. Option A debunks this claim by explaining how the

availability of nap periods enable students to rest too long than necessary, disincentivizing them from actually studying to

do better during class.

Option A is the correct answer.

5 The main point of the argument talks about how vegetables ought to be consumed more than meat to achieve nutritional

health. Option B best weakens this claim by implying the necessity of meat and vegetables together rather than isolating

one’s diet with vegetables alone to have a well balanced and healthy diet.

Option B is the correct answer.

6 The passage indicates that parents should encourage their children to participate in performance arts to build their

confidence through the kind of activity they are exposed to on stage outside of their comfort zone. Option A best

strengthens this argument by implying that there is an engagement of children with peers on set, which contributes to the

thought on how stage play essentially develops the confidence of kids.

Option A is the correct answer.

7 The passage states that imposing consequences on students who disobey school rules shapes their discipline and their
ability to be instructed intellectually. Option A best strengthens the argument by explaining how the disciplinarian
approach provides a threat of punishment that pushes students to behave well, eventually leading them to become more
disciplined and instructable.

Option A is the correct answer.



8 The passage swarms around the premise that the human intervention of moving into tropical wilderness to feed and hunt

animals has put the risk of diseases and other issues related to them. Option A best concludes this argument by

reinstating this type of human intervention as the way people treat the environment, being the main factor towards the

prevalence of life-threatening circumstances such as diseases, climate change, and loss of biodiversity.

Option A is the correct answer.

9 The passage talks about how the development of roads has made it hard for Australian wildlife to move around, causing

their endangerment. Option C best concludes this statement by implying how the development of larger roadways has

caused higher risks of animal deaths, which will eventually lead to their endangerment.

Option C is the correct answer.

10 The passage states that camping helps children learn the fundamentals of survival in an immersive experience. Option D

best strengthens this claim by providing an analysis that explains the kind of processes and activities children go through

in camping that helps them in learning life skills. Pitching a tent and building a fire on the camp are a few of them.

Option D is the correct answer.

11 The main premise of the argument coming from Savannah was that LeBron’s ability to jump high is likely to cause him a

serious ankle injury. This assumption is mitigable with the statement in Option C. Although the possibility of having an

ankle injury is not eradicated, it still gives us reassurance that the risk of injury is low because LeBron perfectly lands with

both feet to avoid an awkward landing, which is something that typically results in damage to a person’s ankles.

Option C is the correct answer.

12 The main premise of the argument coming from John Cena was that The Rock’s eating habits risk him being fat or diabetic.

This is refuted by the statement in option A, which tells us that whatever food The Rock consumes, he always gets to burn

it off with his workouts. This means that The Rock does not accumulate too many calories regardless of how much he eats

because he consistently exercises at high intensity.

Option A is the correct answer.

13 The main premise of the argument coming from the brand’s CEO was that taking Rosé as an ambassadress of the company

could help boost their sales. This is best supported by the statement in Option B, which explains that Rose’s popularity

could attract lots of customers to buy the brand’s products. The appeal and influence that Rose has could easily draw

attention from audiences. If she endorses a product, it’s highly likely that her huge fanbase would like to buy the brand’s

offerings.

Option B is the correct answer.

14 The main premise of the argument coming from Gordon Ramsay was that if he does not know what to do in a situation

that he has no answers to, it is best to leave it be and not do anything at all. This is refuted by the statement in Option D,

which raises Gordon Ramsay’s obligations as a service crew member. Even if Gordon is in an unfavourable situation, one of

his position’s responsibilities is to at least address any concerns from the customers, regardless of whether his attempts

would succeed or not.

Option D is the correct answer.



15 The main premise of the argument coming from Nicki Minaj’s lawyer was that Taylor Swift’s audio file entails that she did

indeed concede to the accusation of her stealing from Nicki Minaj’s backyard. This is refuted in the statement in Option D,

which disarms that notion that the audio file implies a concession. Rather, the audio file is a statement that Taylor Swift

tells herself in a derogatory manner, stating that she is problematic as a person. This, however, does not directly link to the

stealing accusation because it is not related to that context at all.

Option D is the correct answer.

16 The main premise of the argument coming from Messi’s wife was that buying toilet paper at bulk is a good choice because

it is discounted. This is best supported by the statement in Option C, which states that they could save more money with

the discount. This is the best option they can make considering that both of them are having financial troubles. Their

priority is to minimise costs and expenses on their necessities as much as they can, and they are able to do just that by

buying toilet paper in bulk.

Option C is the correct answer.

17 The main premise of the argument coming from Eminem’s teacher is that Eminem shouldn’t eat spaghetti too often he

does not want to get sick. This is best supported by the statement in Option A, which gives us a clear understanding of

what health complications can happen with eating lots of spaghetti. It states that the pasta ingredient in spaghetti, when

eaten too much, can cause high blood pressure and heart diseases that are detrimental to Eminem’s health.

Option A is the correct answer.

18 The main premise of the argument coming from the event coordinator’s colleagues is that having Metallica perform at the

Australia Christmas Day 2022 event will make it uneventful because the band’s genre does not match the Christmas

season’s overall tone and mood. This is refuted in the statement in option A, which states that Metallica can always adjust

themselves from their genre to that of what is necessary for Christmas jingles. Just because Metallica is a rock band, there

was no implication that they will only play rock songs too. Thus, this makes Option A a valid weakening statement.

Option A is the correct answer.

19 The premise of the argument coming from Bruce Lee is that John Wick’s urge to eat ice cream will be a smart decision for

him since he will sing a song on stage later on. This is best supported by the statement in Option C, which states that sore

throat becomes likely when consuming cold food like ice cream. This also means that it may affect John Wick’s singing

voice on stage.

Option C is the correct answer.

20 The main premise of the argument coming from Dr. Dre is that Snoop Dogg shouldn’t sell dark coloured clothes in his shop

in Florida because it could get low, unprofitable sales. This is best supported by the statement in option B, which states

that dark-coloured shirts are uncomfortable to wear on a sunny day. Since the shop is based in Florida, a state that has

extremely hot weather, people in the area will never buy clothes that cause them discomfort. This means that there are

less sales made with the dark-coloured clothes.

Option B is the correct answer.



21 The main passage interlinks the role of professionals, their debts, and how it affects the state economy.

Option A only proposes an alternative solution, while Options B and D only capitalise on the role of the professionals and

they must be taken care of. These options do not quite encapsulate the main claim of the passage. Option C best

concludes the main claim as it describes the role of professionals, their debts, and its impact to state economy.

Option C is the correct answer.

22 The main point of the argument is that students do not have the control over the physical abilities that Physical Education

classes demand from them, and therefore must not be graded for it. Option D best strengthens this argument because it

explains how the means of getting good grades in PE is different from other subjects. It emphasises how, even if students

with medical conditions or physical limitations wanted to improve in the subject, there is only so much they can do.

Options A and B primarily talk about sports participation, while option C is about teachers' qualifications.

Therefore, D is the correct answer.

23 The main point of the argument is that extinction is a natural process that signifies how an animal has become

unnecessary to the rest of nature. Option A best weakens this argument because it directly counters the premise that

extinction is a natural process. It states how humans have the responsibility to help them because people’s behaviour has

itself disturbed the natural processes.

The other options also make the case for helping the endangered animals, but they do not address the main point of

letting ecosystems continue their process.

Therefore, A is the correct answer.

24 The main point of the argument is to help government officials serve the public. Thus, they should not be hindered by

inefficient systems of transportation. Option B best weakens this claim by stating how the use of public transportation,

and subsequently understanding it, can also lead to the goal of helping them serve the public better.

Therefore, B is the correct answer.

25 The main point of the argument is that the way comic books are written will help students understand and appreciate

stories better. Option D best strengthens this argument because it explains how the illustrations, aside from shorter texts,

also aid students’ understanding of the material.

Therefore, D is the correct answer.

26 The main point of the argument states that a new speed record in DNA sequencing could help families more swiftly find

answers to challenging and life-altering issues in the future, as proven by a team of researchers. The statement in option C

best concludes the argument by reinstating the idea that the swiftness of DNA sequencing could assist families in having a

speedy and accurate diagnosis, which is precisely the main point of the argument.

Option C is the correct answer.



27 The main point of the argument talks about how immersing children in farmlands would bring them experiences that

would lead them to learn how to appreciate, acknowledge, and even protect nature as they grow up. The statement in

option A best strengthens this argument by stating that environmental awareness is also another benefit that children

would get if they are immersed on farms. This is directly correlating to the premise that the activity itself affects how

children would perceive and act upon nature.

Option A is the correct answer.

28 The main premise of the argument circles around the idea that fashion trends have empowered individuals to feel good

about themselves when following the clothing choices of influencers. The statement in option B refutes the idea of

empowerment by claiming that these trends have caused people to compare themselves with others. This has led to them

having insecurities for not looking as good as other influencers.

Option B is the correct answer.

29 The main point of the argument says that minimalist designs are used to help audiences easily understand the messaging

that is intended by the art. Option A may be true, but the argument does not focus on impact. The statement in Option D

best strengthens this argument by stating that minimalist art does not include a lot of elements that may be distracting for

the audience. Because of its minimalist nature, people easily digest the messaging of the art.

Option D is the correct answer.

30 The passage tells us that social media filters can be used for both aesthetic and fun purposes. However, aesthetic filters

have been, in immense levels, negatively used for media deception, especially on the business side. Option C best

strengthens this argument by providing a concrete example of how aesthetic filters are used to lie in the media, especially

during product promotions.

Option C is the correct answer.


